A 380 V(I-1) 3-phase 4-pole Y-connected induction motor's torque-

speed characteristics can be approximated as: Niga: (00PN
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where ré = 1 $2/phase. The motor is used to drive a load at a /H
precisely constant speed of 1500 rpm. The load torque canbe o 4 1
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a) Propose a method of speed control for this purpose \/a’:aLLQ_ Wg (VFD)
and explain your reasoning, and calculate the required

controller parameters. s Cm;gmt@/qc) qu””
b) Calculate the operating slip of the motor.

¢) Give a rough estimate for the efficiency of the motor
under these conditions.

d) What is the minimum value of starting torque the
motor must produce?
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